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Abstract

The main focus of thisreport isto use Excel and MATLAB
software to analyze and plot the response curve with RC, RL
and L C circuit formula. The graphics of the simulation of Excel
and MATLAB software are dlightly different, but all the analysis
Is consistent with the graphics. Aswell asto the DC transient for
RC and RL, the charging and discharging of the VR, V¢, VL
and i are obtained. Then, in the LC series circuit, the plural form
of the main frequency analysis of the impact on the impedance

Is al'so discussed.
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